
 

 
 

 C12 
 

 
 
 
 

Februar 2011/B 

 

 
 
 
 
 
 
 
 
 
POS ART-NO DESCRIPTION TOTAL POS ART-NO DESCRIPTION TOTAL 

1 706-501  Clipper head case USV/HANDY/CORDLESS 1x 24 701-612  Seal VS84/HANDY/12V 1x 

2 706-503  Driving carrier USV/HANDY/CORDLESS 1x 25 712-102  Centering flange 12V 1x 

3 706-505  Crank spindle sleeve USV/HANDY/CORDLESS 1x 26 712-100-22 Motor with cogwheel 12V 1x 

4 706-506  Crankshaft USV/HANDY/CORDLESS 1x 27 712-112  Fan wheel 12V 1x 

5 706-507  Crank drive block  1x 28 712-105  T-wire 1.5mm² red with flat connector 1x 

6 706-508  Cogwheel Z30 USV/12V white  1x 29 712-113  Airflow guide 12V 1x 

7 706-509  Tension screw USV/HANDY/CORDLESS 1x 30 712-106  T-wire 1.5mm² blue with flat connector 1x 

8 706-510  
Distance screw 
USV/HANDY/CORDLESS/DELTA1/PROGRESS 1x 31 712-100-20 A Motor housing 12V Heiniger grey 1x 

9 706-511  Pressure plate 1x 32 712-111  Anti-kink sleeve VS84/HANDY/12V USA 1x 

10 706-514  Centering bush  2x 33 701-800-23 Cord hanger HANDY/12V 1x 

11 706-517  Pressure spring  1x 34 712-108  Cable with terminals 12V 1x 

12 706-518  Laminated spring 2x 35 701-631  Main switch VS84/HANDY/12V 1x 

13 706-520  PH-screw M5 x 16  2x 36 701-671  Cable grip VS84/HANDY/12V USA 1x 

14 706-521  Comb screw cattle/horse 2x 37 712-109  Socket head cap screw M3.5 x 10 2x 

15 706-523  PH-screw M4 x 10  2x 38 701-619  Clamp VS84/HANDY/12V 1x 

16 706-524  Circlip for shaft Ø6 1x 39 701-642  Socket head cap screw M3 x 25  1x 

17 706-525  Socket head cap screw partially threaded M3 x 6  2x 40 701-627  Dust cover VS84/HANDY/12V 1x 

18 706-500  Clipper head USV/12V with blades  1x 41 701-605  Switch housing, lower VS84/HANDY/12V 
black 

1x 

19 701-640  Socket head cap screw M3.5 x 8 4x 42 701-641  Socket head cap screw M3 x 6 4x 

20 701-602  Gearbox housing VS84/12V black 1x 43 701-600-30 A 
Filter cover complete VS84/HANDY/12V 
black 

1x 

21 712-103  Reduction gear Z42/12 12V 1x 44 712-100-21  Capacitor 3.3µF 12V  1x 

22 701-615  Spindle VS84/12V 1x  706-528 
Set of spare parts small clipper head 
Pos. 5 / 10 / 12 / 17  

23 712-110  Countersunk screw M4 x 12  2x  706-529 A 
Set of spare parts large clipper head USV 
Pos. 3 / 4 / 5 / 6 / 10 / 12 / 14 / 16 / 17 

 

 


